
 

 

 

 

 

 

 

 

 

 

 

 

 

  

I’ve specified the players and actions. But I’m confused about the payoffs. Is the utility function 

defined by   

𝑢𝑖 = 

{
 
 

 
 1(2 − 𝑦𝑖 − 𝑦𝑗)   𝑖𝑓 𝑦𝑖 > 𝑦𝑗
1

2
(2 − 𝑦𝑖 − 𝑦𝑗)   𝑖𝑓 𝑦𝑖 = 𝑦𝑗

0(2 − 𝑦𝑖 − 𝑦𝑗)   𝑖𝑓 𝑦𝑖 < 𝑦𝑗

  

or 

𝑢𝑖 = 

{
 
 

 
 1(2 − 𝑦𝑖 − 𝑦𝑗) − 𝑦𝑖    𝑖𝑓 𝑦𝑖 > 𝑦𝑗
1

2
(2 − 𝑦𝑖 − 𝑦𝑗) − 𝑦𝑖    𝑖𝑓 𝑦𝑖 = 𝑦𝑗

0(2 − 𝑦𝑖 − 𝑦𝑗) − 𝑦𝑖    𝑖𝑓 𝑦𝑖 < 𝑦𝑗

 

If the second function is correct and the first one is wrong, can you explain why it makes sense to 

have negative utility where player i loses the fight so that u = -yi ? If each player started off with 1 

unit of resource to begin with (and so started with eg. u=1) and they spent yi  on the fight and gave 

the rest (1- yi) to the other player because they lost, isn’t utility equal to 0 not - yi? 

Then, could anyone be so kind as to explain how to go about drawing the best responses of each 

player? Is there any easier way of thinking about this problem? 

Thank you 


